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Choose the correct option               (1 X 15= 15) 
 

1. The general solution of 𝐜𝐨𝐬 𝜽 = 𝟎 is ?  
 

a) 𝜽 = 𝒏𝝅 

b) 𝜽 = (𝟐𝒏 + 𝟏)
𝝅

𝟐
  

c) 𝜽 = 𝟐𝒏𝝅 

d) 𝜽 = (𝟐𝒏 − 𝟏)
𝝅

𝟐
 

2. The general solution of 𝐬𝐢𝐧 𝜽 = 𝟏 is ?  
 

a) 𝜽 = 𝒏𝝅 

b) 𝜽 = (𝟒𝒏 + 𝟏)
𝝅

𝟒
  

c) 𝜽 = 𝟐𝒏𝝅 

d) 𝜽 = (𝟒𝒏 + 𝟏)
𝝅

𝟐
 

3. If 𝐭𝐚𝐧 𝜽 = 𝟏 𝒂𝒏𝒅  𝟎° ≤ 𝜽 ≤ 𝟑𝟔𝟎° , then 𝜽 = ?  
  

a) 𝟒𝟓° &  𝟐𝟐𝟓° 
b) 𝟒𝟓° &  𝟏𝟑𝟓° 
c) 𝟒𝟓° &  𝟑𝟏𝟓° 
d) 𝟒𝟓° &  𝟐𝟏𝟎° 

4. The general solution of 𝐜𝐨𝐭 𝜽 =  𝐜𝐨𝐭 𝜶 (𝜶 ≠ 𝟎) is ? 
      

a) 𝜽 = 𝒏𝝅 + 𝜶 

b) 𝜽 = 𝒏𝝅 +
𝜶

𝟐
 

c) 𝜽 = 𝒏𝝅 − 𝜶 
d) 𝜽 = 𝜶 

 

 

 

 



5. The general solution of 𝐜𝐨𝐬𝐞𝐜 𝜽 =  𝐜𝐨𝐬𝐞𝐜 𝜶 (𝜶 ≠ 𝟎) is ? 
 

a)  𝜽 = 𝒏𝝅 + 𝜶 

b) 𝜽 = 𝒏𝝅 +
𝜶

𝟐
 

c) 𝜽 = 𝒏𝝅𝜶 
d) None of these. 

6. The general solution of 𝐬𝐢𝐧 𝜽 =  𝐜𝐨𝐬 𝜽 is ? 
 

a)  𝜽 = (𝟐𝒏 + 𝟏)
𝝅

𝟒
 

b) 𝜽 = 𝒏𝝅 +
𝝅

𝟒
 

c) 𝜽 =
𝝅

𝟒
 

d) None of these. 

7. The general solution of the equation  𝐭𝐚𝐧 𝟑𝒙 = 𝟏 is ? 
 

a) 𝒏𝝅 +
𝝅

𝟏𝟐
 

b) 𝒏𝝅 +
𝝅

𝟒
 

c) 
𝒏𝝅

𝟑
+

𝝅

𝟒
 

d) 
𝒏𝝅

𝟑
+

𝝅

𝟏𝟐
 

 

8. The number of terms in the expansion of (𝒙 −
𝟐

𝟑𝒙
)

𝟏𝟏

 is ?  

 
a) 11      ,      b)   12      ,     c)    13       ,      d) 14 

 

9. The index of 𝒚 in the 10th term of the expansion of (𝒙 + 𝒚)𝟏𝟗 is ?  
 

a) 9       ,      b)   10     ,      c)    19      ,     d)  20 

 

10. The middle term in the expansion of  (𝟐𝒙 − 𝟑𝒚)𝟏𝟐 is ?  
a) 7th term 
b) 8th term 
c) 8th term 
d) None of these. 

 

11. The middle term in the expansion of  (𝟑𝒙 − 𝟒𝒚)𝟏𝟓 is ?  
a) 6th & 7th terms. 
b) 5th & 6th terms. 
c) 7th & 8th terms. 
d) 8th & 9th terms. 

 
 
 



 

12.  The index of 𝒂 in the 12th term of the expansion of (𝒂 + 𝟐𝒃)𝟐𝟎 is ?  
a) 9 
b) 10 
c) 19 
d) 20 

 

13.  The coefficient of 𝒙𝟏𝟓 in the expansion of (𝒙𝟑 +
𝟐

𝒙𝟐)
𝟏𝟎

 is ? 

a) 650 
b) 850 
c) 960 
d) 860 

 

14. The coefficient of 𝒙−𝟐 in the expansion of (𝟐𝒙𝟑 −
𝟏

𝒙𝟐)
𝟔

 is ? 

a) 60 
b) 50 
c) 96 
d) 86 

 

15.   The coefficient of 𝒙𝟒 in the expansion of (𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑)𝟏𝟏 
   is ?  

a) 660      ,   b) 909    ,    c) 990 ,     d) None of these.  
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